GX & BGC V)—XR#E~TiER

g ~ L1 —
MQ\ _ ‘ el —
=
w 1l 1
I\
© 2@ =
)] =)
W w BN, BL, BE
o | T IOY9 i - mm L=t - mm ERTHFE- N | BEHE—A k| or | ar
.
:§ H|W|[W2]|E L B|J | MQ | L1 QilH T N W1 | H1 F d D h |[C-BGX|C-BGC|C0-BGX|C0-BGC Mx My My kg kg/m
S15BS | 24 | 34 | 9.5 |13.4| 40.6 | 26 M4 | 4.8 | 22.2 | M4X0.7 | 5.5 | (5.7) |15 [13.0( 60 |45 | 7.5 | 5.5 6.9 5.7 10.8 9.8 0.068 | 0.032 |0.032 | 0.10 | 1.28

S15BN | 24 | 34 [ 95 (3.4 | 58.6 | 26|26 | M4 | 4.8 | 40.2 | M4X0.7 [ 5.5 | (5.7) [15 |13.0| 60 |45 | 75| 55 | 13.0 | 11.5 21.6 196 0.136 | 0.117 | 0.117 | 0.17 | 1.28
S15BL [ 24 | 34 [ 9.5 |3.4[66.1| 26|26 | M4 | 4.8 | 47.7 | M4X0.7 | 55 | (5.7) [ 15 |13.0(60 [45 | 75| 55| 14.1 [ 13.9 26.1 23.7 0.164 | 0.169 | 0.169 | 0.18 | 1.28

S20BS | 28 | 42 | 11.0(4.5 [ 49.1 | 32 M5 | 5.5 | 27.5| M6X1.0 | 5.1 [(12.3)[ 20 |[16.3[60 | 6.0 [ 95| 85 | 11.1 9.1 17.3 15.7 0.146 | 0.064 | 0.064 | 0.17 | 2.15
S20BN | 28 [ 42 [11.0|4.5| 70.1 | 32|32 | M5 | 55 | 48.5| M6X1.0 | 5.1 [(12.3)| 20 [16.3| 60 (6.0 | 9.5 | 85| 21.5 | 17.7 33.6 305 0.285 | 0.220 | 0.220 | 0.26 | 2.15
S25BS | 33 | 48 |12.5(5.8 [ 54.0 | 35 M6 | 6.8 [ 32.3| M6X1.0 | 7.2 |(12.2)| 23 |19.2| 60 | 7.0 | 11.0| 9.0 | 165 | 12.7 23.1 21 0.225 | 0.101 | 0.101 | 0.21 | 2.88

S25BN [ 33 | 48 |[12.5]|58 | 79.2 | 35|35 | M6 | 6.8 | 57.5| M6X1.0 | 7.2 [(12.2)| 23 [19.2]| 60 [ 7.0 [11.0| 9.0 | 28.1 | 24.8 | 452 411 |[0440 [ 0352 [0.352 [0.38 [ 2.88
X25BN | 36 | 48 |12.5[5.8 | 79.2 | 35|35 | M6 | 9.0 | 57.5 | M6X1.0 |[10.2|(12.2)[ 23 |19.2[ 60 [ 7.0 | 11.0| 9.0 | 28.1 | 24.8 | 452 411 | 0440 | 0352 |0.352 [ 0.40 | 2.88
X25BL | 36 | 48 |12.5[5.8 | 93.9 | 35|35 | M6 | 9.0 | 72.2| M6X1.0 |10.2|(12.2)[ 23 |19.2[ 60 [ 7.0 | 11.0| 9.0 | 337 | 31.9 | 58.1 528 |0.566 | 0.568 | 0.568 | 0.54 | 2.88
X25BE | 36 | 48 |12.5]|5.8 [108.6| 35|50 | M6 | 9.0 | 86.9 | M6X1.0 |[10.2(12.2)| 23 [19.2]| 60 [ 7.0 [11.0| 90 | 380 | 36.0 | 69.6 633 [0679 [ 0819 [0.819 |0.67 | 2.88
S30BS | 42 | 60 |16.0|7.0 | 64.2 | 40 M8 [10.0 | 37.2 [ M6X1.0 | 10 [(11.7)[ 28 [22.8 | 80 [ 9.0 |14.0[12.0| 221 | 182 | 29.7 27 0.350 | 0.150 | 0.150 [ 0.50 | 4.45
S30BN [ 42 | 60 | 16.0|7.0 | 94.8 | 40|40 | M8 [10.0 [ 67.8 | M6X1.0 | 10 [(11.7)]| 28 |22.8| 80 [ 9.0 [14.0|12.0| 416 | 36.7 | 60.1 546 | 0.706 | 0.551 | 0.551 | 0.80 | 4.45
S30BL | 42 | 60 | 16.0|7.0 [105.0| 40|40 | M8 [10.0 [ 78.0 | M6X1.0 | 10 [(11.7)]| 28 |22.8| 80 [ 9.0 [14.0|12.0| 48.1 | 47.5 | 77.8 707 | 0915 [ 0.821 [0.821 |0.94 | 4.45
S30BE | 42 | 60 | 16.0| 7.0 [130.5| 40|60 | M8 [10.0 [103.5| M6X1.0 | 10 |(11.7 22880 |9.0 [14.0[12.0] 579 | 529 | 954 86.7 |1.122 [ 1.336 [1.336 | 1.16 | 4.45
S35BS | 48 | 70 |18.0|7.5 | 75.5 | 50 M8 | 10.0 | 44.5 | M6X1.0 |11.5[(11.5)| 34 |26.0| 80 [ 9.0 [14.0{12.0| 318 | 26.2 | 448 40.7 |0.643 | 0269 |0.269 |[0.80 | 6.25
S35BN | 48 | 70 [18.0| 7.5 [111.5| 50|50 | M8 [10.0 [ 80.5 | M6X1.0 |[11.5(11.5)| 34 |26.0| 80 [9.0 [14.0|12.0| 59.4 | 52.3 | 89.2 811 |1.282 | 0972 |0.972 [1.20 | 6.25
S35BL | 48 | 70 | 18.0| 7.5 [123.5| 50|50 | M8 [10.0 [ 92.5 | M6X1.0 |11.5|(11.5)| 34 [26.0| 80 | 9.0 [ 14.0{12.0| 688 | 654 | 1115 | 101.4 | 1.602 | 1.396 | 1.396 | 1.40 | 6.25
S35BE | 48 | 70 | 18.0| 7.5 [153.5| 50|72 | M8 [10.0 [122.5| M6X1.0 |11.5(11.5)| 34 [26.0|80 | 9.0 [14.0{12.0| 816 | 71.9 [ 1378 | 125.3 | 1.981 | 2.286 |2.286 | 1.84 | 6.25
S45BN | 60 | 86 |20.5[8.9 |129.0| 60 | 60 | M10[15.5 | 94.0 [M8X1.25|14.4 | (10.8)[ 45 |31.1[105 [14.0 | 20.0|17.0| 812 | 71.6 | 1198 | 1089 |[2.300 | 1.524 [1.524 |1.64 | 9.60
S45BL | 60 | 86 | 20.5[8.9 |145.0| 60 | 60 | M10|15.5 | 110.0|M8X1.25 |14.4 | (10.8) 45 |31.1 [105 [14.0 | 20.0|17.0| 89.7 | 85.1 | 1425 | 1205 |[2736 | 2.122 [2.122 |1.93 | 9.60
S45BE | 60 | 86 |20.5[8.9 |174.0| 60 |80 | M1015.5 | 139.0|M8X1.25 |14.4 | (10.8) [ 45 |31.1 105 [14.0 | 20.0| 17.0| 103.6 | 98.4 | 1706 | 163.3 | 3449 | 3.379 [3.379 |2.42 | 9.60
S55BN | 70 [100]23.5(12.7]155.0| 75|75 | M12[18.0 | 116.0|M8X1.25|14.0 | (10.8)| 53 |38.0 [120 [16.0 | 23.0| 20.0| 104.7 | 86.2 | 1467 | 133.4 |[3.303 | 2.304 [2.304 | 2.67 [13.80
S55BL | 70 |100|23.5(12.7[193.0| 75|75 | M12[18.0 [154.0|M8X1.25|14.0 | (10.8)| 53 |38.0|120 [16.0 [ 23.0|20.0| 131.9 | 116.3 | 1968 | 178.9 | 4.428 | 4.101 | 4.101 | 3.57 | 13.80
S55BE | 70 |100|23.5(12.7(210.0| 75|95 | M12[18.0 [171.0|M8X1.25|14.0 | (10.8)| 53 |38.0 |120 [16.0 [ 23.0|20.0| 166.0 | 157.7 | 2790 | 253.6 |6.279 | 6.458 | 6.458 | 3.97 |13.80

N
==

BGX & BGC Y—X#R#&~Fix%E (H-F) (S-F)

W
B
|- -
_‘}»% [1
© ?@
b )
| w [ FN, L, FE
N : . . Jo | L
RIE FAILTE - mm JOv0F ik - mm L—Jl~tik - mm HATREE- kN [SEHEE—AU Nm| 5% | 2%
Hlw|w2|e [ v [B|u[malin [ 1 |1 | oiH [T1] N [wi[H1[F] d | D | nh [cBex|c-Bac|co-Bex[co-BaC| Mx | My | M, [ kg [ka/m

H15FN [ 24 [ 47 [ 16.0 [ 3.4 [ 586 [38 [30] M5 [ 4.4 [ 7.5 [40.2 [ Max0.7 |55 | (5.7) [ 15[13.0[60[45] 75 [55 | 130 | 115 | 216 196 |0.136 | 0.117 [0.117 [ 021 [1.28
H15FL | 24 [ 47 [16.0[ 3.4 [ 66.1 [38 [30] M5 |44 [ 7.5 [47.7 [ M4x0.7 [ 5.5 | (5.7)[15[13.0[60[45[ 7.5 [55 | 141 | 139 | 264 237 |o0.164 0169 |0.169 | 0.23 [ 1.28
o |[s15Fs |24 52| 185 3.4 | 406 |41 M5 [ 44 | 75 [222 [Max0.7 [ 55 [ (5.7)[15[13.0[60[45]75 [55| 69 | 57 | 108 | 98 0.068 | 0.032 | 0.032 | 0.12 | 1.28
S15FN |24 | 52 [ 185 | 3.4 | 58.6 |41 [26] M5 | 4.4 | 7.5 [402 | Max0.7 | 55 | (5.7) | 15]13.0|60] 45|75 |55 | 130 | 115 | 216 196 |0.136 | 0.117 | 0.117 | 0.19 [ 1.28
H20FN [ 30 [ 63 [ 21.5 4.5 [ 70.1 [53 [40[ M6 [ 5.4 [ 9.0 [485 | mex1 | 7.1 [(12.3)[ 20[16:3[60[6.0 |95 [85 | 215 | 177 | 336 | 305 |0.285 |0.220]0.220 | 0.40 [2.15
H20FL [ 30 [ 63 [ 21.5[ 45 | 82.9 [53 [40] M6 [ 54 [ 9.0 [61.3 | Mex1 [ 7.1 [(12.3) 20[16.3[60 6.0 95 [85 | 260 [ 230 | 435 [ 395 [o369 [0.3610361] 046 [2.15
H20FE [ 30 [ 63 [ 21.5[ 4.5 | 98.1 [53 [40] M6 [ 54 [ 9.0 [76.5 | Mex1 [ 7.1 [(12.3)[ 20[16.3[60[6.0[ 95 [85 | 309 [ 273 | 538 [ 489 [o0.456 [0.557 [0557 | 0.61 [2.15
©[s20Fs | 28] 59 | 195[ 45 | 49.1 [49 M6 |54 | 7.0 | 275 | Mex1 | 5.1 |(12.3)] 20[16.3]60|6.0[ 95 [85 [ 11.1 | 91 17.3 157 | 0.225 | 0.101 | 0.101 | 0.18 [ 2.15
S20FN [ 28 59 [ 19545 [ 70.1[49 [32] M6 [ 5.4 [ 7.0 [485 | Mex1 | 5.1 [(12.3)[ 20]16.3[60[6.0[ 95 [85] 215 [ 177 | 336 | 305 [o0.285 | 0200|0200 | 0.31 [ 2.15
H25FN | 36 | 70 | 23.5[ 5.8 [ 79.2 |57 |45] M8 | 6.8 [10.1|57.5 | mex1 [10.2|(12.2)[ 23 [19.2] 60 [ 7.0 [11.0| 9.0 | 28.1 | 248 | 452 | 411 [o0.440 | 0352 [ 0352 ] 057 | 2.88
H25FL [ 36 [ 70 [ 235 5.8 [ 93.9 [57 [45] M8 [ 6.8 [10.1]72.2 [ mex1 [102](12.2)[ 23[19.2]60 7.0 [11.0] 9.0 | 337 [ 319 | 581 528 | 0566 | 0.568 | 0.568 | 0.72 | 2.88
H25FE | 36 [ 70 [ 235 [ 5.8 [108.6[57 [45] M8 [ 6.8 [10.1[86.9 | mex1 [10.2](12.2)] 23[19.2]60 7.0 [11.0] 90| 380 [ 360 | 696 [ 633 [o0679 [0.819 0819 ] 0.89 [ 288
©(s25Fs [ 33| 73 [ 25058 [ 54.0 [60 M8 [6.8 | 7.1 [323 [ mex1 |72 [(12.3)] 23[19.2]60 7.0 [110] 90| 155 [ 127 | 231 210 | 0225|0101 0101 | 0.33 [ 2.88
S25FN [ 33| 73 [ 25.0 5.8 | 792 [60 [35] M8 [ 6.8 | 7.1 [575 | Mex1 | 7.2 [(12.3)[ 23 19.2[60 7.0 [11.0[ 90| 281 [ 248 | 452 | 411 [o0440 | 0352|0352 | 0.50 | 2.88
o[H3oFs[42] 90 [31.0[7.0 [ 64272 M10] 86 [12.0]37.2 [ mex1 [ 10 [(11.7)] 28 22880 [ 9.0 [14.0[12.0] 221 [ 182 | 2907 [ 270 [o3s0 0150 [0.150 [ 0.80 [4.45
H30FN | 42 | 90 | 31.0 [ 7.0 [ 94.8 |72 |52 m10| 86 [12.0|67.8 | Mex1 | 10 |[(11.7)| 28 [22.8| 80 [ 9.0 [14.0 [12.0] 416 | 367 | 60.1 546 |0706 | 0551|0551 | 1.10 | 4.45
H30FL [ 42 [ 90 [ 31.0[ 7.0 [105.0[72 [52[ m10] 86 [12.0[78.0 | Mex1 | 10 [(11.7)[ 28 [22.8] 80 [9.0 [14.0[120] 481 [ 475 [ 778 | 707 [o0915 | 0821|0821 | 1.34 [4.45
H30FE [ 42 [ 90 [ 31.0 | 7.0 [130.5|72 [52[ m10| 86 [12.0[1035] Mex1 | 10 [(11.7)[ 28 [22.8] 80 [ 9.0 [14.0[120] 579 | 529 | 954 | 867 |1.122 | 1.336 | 1.336 | 1.66 | 4.45
© |H3sFs | 48 [100] 33.0[ 7.5 | 755 |82 M10] 8.6 [14.0]445 | mex1 |11.5]|(11.5) 34 [26.0| 80 [ 9.0 [14.0[12.0] 318 | 262 | 448 | 407 |0.643 |0.269 ] 0.260 | 1.00 | 6.25
H35FN | 48 [100 | 33.0 [ 7.5 [111.5 [82 |62 [M10 | 8.6 [14.080.5 | mex1 [11.5|(11.5)| 34 [26.0 [80 [ 9.0 [14.0|12.0 | 594 | 523 | 892 | 811 [1.282|0.972 [0.972 | 150 |6.25
H3sFL | 48 [100] 33.0 | 7.5 [123.5]82 |62 M10]| 8.6 [14.0[92.5 | mex1 [11.5](11.5)[ 34 [26.0| 80 [ 9.0 [14.0 [12.0] 688 | 654 | 1115 | 1014 [1.602 | 1.396 | 1.396 | 1.90 | 6.25
H3s5FE | 48 [100] 33.0 | 7.5 [153.5]82 |62 M10| 8.6 [14.0[122.5| Mex1 |11.5[(11.5)[ 34 [26.0| 80 | 9.0 [14.0 [12.0] 816 | 719 | 1378 | 1253 [1.981 [2.286 [ 2.286 | 2.54 | 6.25

(10.8)

(10.8)

(10.8)

(10.8)

(10.8)

(10.8)

H45FN [ 60 [120| 37.5 [ 8.9 [129.0{100(80| M12|10.6 | 16.0 [ 94.0 |[M8X1.25 | 14.4 4531.1|105{14.0/20.0 |17.0) 81.2 | 71.6 1198 1089 |2.300 | 1.524 | 1.524 | 2.27 | 9.60
H45FL | 60 [120| 37.5 | 8.9 [145.0{100(80| M12|10.6 | 16.0 [110.0 [ M8X1.25 | 14.4 45 [31.1[105({14.0{20.0 [17.0| 89.7 | 85.1 142 5 1295 |2.736 | 2.122 | 2.122 | 2.68 | 9.60
H45FE | 60 [120| 37.5 | 8.9 [174.0{100(80| M12|10.6 | 16.0 [139.0 [ M8X1.25 | 14.4 4531.1|105{14.0/20.0 |17.0) 1036 | 98.4 1796 1633 |3.449 | 3.379 | 3.379 | 3.42 [ 9.60
H55FN [ 70 [ 140| 43.5 [12.7 [ 155.0 {116 |95 | M14 [ 12.6 | 19.0 [116.0 [ M8X1.25 | 14.0 53 (38.0(120{16.0{23.0 [20.0| 104.7 | 86.2 146.7 133.4 |3.303 | 2.304 | 2.304 | 3.44 [13.80
H55FL [ 70 | 140 | 43.5 [12.7 [ 193.0 [116 |95 | M14 [12.6 | 19.0 [154.0 | M8X1.25 | 14.0 53 |38.0/120{16.0/23.0 [20.0( 1319 | 116.3 | 1968 1789 |4.428 [ 4.101 | 4.101 | 4.63 [13.80
H55FE | 70 | 140 | 43.5 [12.7 | 210.0 (116 |95 | M14 [12.6 | 19.0 [171.0 |M8X1.25 | 14.0 53 (38.0 (120(16.0{23.0 [20.0( 1660 | 157.7 | 2790 2536 |[6.279 | 6.458 [ 6.458 | 5.16 [13.80






